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SOCIOLOGY

Time: 2.30 Hours

Maximum: 80 Scores

General Instructions to candidates:
• There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs 30 mts
• You are neither allowed to write your answers nor to discuss anything with others during the 'cool off time'.
• Use the 'cool off time' to get familiar with questions and to plan your answers.
• Read the questions carefully before answering
• All questions are compulsory and only internal choice is allowed.
• When you select a question, all the sub-questions must be answered from the same question itself.
• Calculations, figures and graphs should be shown in the answer sheet itself.
• Malayalam version of the question is also provided.
s]mXp-\n¿t±-i-ßƒ

• \n¿±njvS ka-b-Øn\v ]pdsa 15 an\n´v "Iqƒ Hm^v ssSw' D≠m-bn-cn-°pw. Cu ka-bØv tNmZy-ßƒ°v
DØcw Fgp-Xmt\m, a‰p-≈-hcp-ambn Bibw hn\n-abw \S-tØmt\m ]mSn-√.

• DØ-c-ßƒ Fgp-Xp-∂-Xn\v apºv tNmZy-ßƒ {i≤m-]q¿∆w hmbn-°-Ww.

• F√m tNmZy-ßƒ°pw DØcw Fgp-X-Ww.

• Hcp tNmZy-\-º¿ DØ-c-sa-gp-Xm≥ sXc-s™-SpØv Ign-™m¬ D]-tNm-Zy-ßfpw AtX tNmZy-\-º-cn¬
\n∂v Xs∂ sXc-s™-Sp-t°-≠-Xm-Wv.

• IW°v Iq´-ep-Iƒ, Nn{X-ßƒ, {Km^p-Iƒ, F∂nh DØ-c-t]-∏-dn¬Øs∂ D≠m-bn-cn-°-Ww.1

• tNmZy-ßƒ ae-bm-f-Ønepw \¬In-bn-´p-≠v.

1.  If sociology is to modern complex

societies, ------------- is to simple societies

(1)

2. i) Identify the statement that best reflects

the social  responsibility of a sociologist.

(1)

a) A sociologist has no social

responsibility

b) It is the responsibility of a sociologist

to fight against social problems

c) A sociologist's responsibility is to study

the problem as what it is and what it

should be'.

1. k¶o¿W-amb B[p-\nI kaq-l-Øn-emWv

tkmtjym-fPn F¶n¬ ............... efn-X-k-aq-

lØns‚ ]T-\-amWv (1)

2. Xmsg \¬In-bn-cn-°p-∂-h-bn¬ \n∂pw Hcp

tkmtjym-f-Pn-Ãns‚ G‰hpw {][m-\-s∏´

DØ-c-hm-Zn-Xz-amWv  ..............

a. bmsXm-cp-hn[ kmaq-lnI DØ-c-hm-Zn-Xz-

hp-an-√.

b. kmaq-ln-I-{]-iv\-ß-tfmSv s]mcp-XpI

c. kmaq-ln-I-{]-iv\-ßsf ]Tn-°p-tºmƒ

Ah F¥m-bn-cn-°Ww Fß-s\-bm-bn-cn-

°Ww F∂-Xn-ep-]cn AXv F¥m-sW∂v

]Tn-°Ww
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d) A sociologist only takes partial

responsibilities

ii) Why did you select this particular

statement? (1+3 = 4)

3. a) From the given names identify the

conflict theorist.

i) Auguste Comte

ii) Emile Durkheim

iii) Karl Marx

iv) Herbert Spencer

b) Compare and contrast the conflict and

functional perspectives of social

stratification. (1+3 = 4)

4. i) Identify the most appropriate concept

for the urban localities sealed off from

its surroundings by fences, walls and

gates with controlled entry and exit.

a) Gentrification

b) Gated communities

c) Urban neighbourhood

d) Ghetto

ii) Differentiate any two concepts that you

did not consider as the answer.

(1+ 2 = 3)

5. Differentiate between micro and macro

social institutions with two examples

each. (3)

6. The functionalist perspective argues

that modern industrial societies

function best if women look after the

family and men earn the family

livelihood. Do you agree? Substantiate.

(3)

d. `mKo-I-amb DØ-c-hm-ZnXzw am{Xw Gs‰-

Sp-°p-∂p.

ii) sXcs™-SpØ DØ-csØ \ymbo-I-cn-°pI

(1 + 3 = 4)

3. a)Xmsg \¬In-bn-cn-°p-∂-Xn¬ kwL¿j

kn≤m-¥-Øns‚ (conflict theory)

hy‡mhv Bcv?

i) BKÃv tImwXv

ii) Fssa¬ Zp¿Jnw

iii) Imƒ am¿Ivkv

iv) sl¿s_¿´v kvs]≥k¿

b) kmaq-lnI t{iWo-I-c-W-Øns‚ {]h¿Ø\

kn≤m¥ \ne-]mSpw (functionalist)

kwL¿j-kn-≤m-¥-\n-e-]mSpw (conflict)

Xmc-Xayw sNøpI (1 + 3 = 4)

4. i) aXn-ep-I-fmepw then-I-fmepw tK‰p-I-fmepw

k©mc kzmX{¥yw \nb-{¥n-°-s∏-Sp-Ibpw

kwc-£n-°-s∏-Sp-Ibpw sNbvXn-cn-°p∂ \K-

c-{]-tZ-i-Øn\v tNcp∂ G‰hpw A\p-tbm-

Py-amb k¶-ev]\w sXc-s™-Sp-°p-I.

a) P‚-dn-̂ n-t°-j≥

b) tK‰Uv IΩyq-Wn‰n

c) \Kc Ab¬]°w

d) sKt‰m

ii) sXc-s™-Sp-°-s∏-Sm-Xn-cp∂ c≠v k¶¬]-

ßsf Xmc-Xayw sNøp-I. (1 + 2 = 3)

5. kqIvja- km-aqloI ÿm]-\-ßfpw kvYqe

kmaq-lnI ÿm]-\-ßfpw DZm-l-c-W-k-

lnXw Xmc-Xayw sNbvXv hyXym-k-ßƒ

Fgp-XpI (3)

6. B[p-\nI hymh-km-bnI kaq-l-Øns‚ icn-

bmb {]h¿Ø-\-Øn\v kv{XoIƒ hoSp-

t\m°n \S-Øp-Ibpw ]pcp-j-∑m¿ ]pd-Øp-

\n∂v hcp-am\w Is≠-Øp-Ibpw sNøp-∂-

XmWv A`n -Imayw F∂ {]h¿Ø\

kn≤m¥ (functionalist) ImgvN-∏m-Sn-t\mSv

\nßƒ tbmPn-°p-∂pthm? F¥p-sIm≠v?

(3)
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7. Detect and identify the example of serial

monogamy from the given list

a) A man has three wives at different

places at the same time.

b) A man has only one wife

c) A woman has 3 husbands at different

places

d) A man marries the younger sister of his

diseased wife (1)

8. --------------- can be defined as a set of

symbols and beliefs providing the sense

of being part of a single political

community. (1)

9. a) The cultural superiority claimed by

Adolf Hitler is an example for -------

b) Differentiate it from

cosmopolitanism (1+ 3 = 4)

10. How can mass media act as an agency

of socialisation? Point out two other

agencies of socialisation of a student.

(4)

11. In a study related to the attitudes of

college students towards co-education

in the universities, the researcher

approaches 1000 college students for

their responses. These 1000 students

constitute the:

a) Population

b) Sample

c) Universe

d) Controlled variable (1)

12. Analyse the scope of field work in

sociology and social  anthropology

(8)

OR

7. Xmsg X∂n-cn-°p-∂-h-bn¬ \n∂pw kocn-b¬

tamsWm-K-an°v DZm-l-cWw sXc-s™-SpØv

Fgp-Xp-I.

a. Hcp ]pcp-j\v Htc ka-bØp Xs∂hnhn[

ÿe-ß-fn¬ \n∂mbn aq∂v `mcy-am-cp-≠m-

bn-cn-°p-I.

b. Hcp ]pcp-j\v Hcp `mcy am{Xw

c. Hcp kv{Xo°v aq∂v `¿Øm-°-∑m-¿

d. Hcp ]pcp-j≥ Xs‚ ac-W-s∏´ `mcy-bpsS

ktlm-Z-cnsb hnhmlw Ign-°pI (1)

8. Nn”-ß-fp-sSbpw hnizm-k-ßfp-sSbpw ASn-

ÿm-\-Øn¬ Hcp cmjv{Sob kap-Zm-b-Øns‚

`mK-am-Ip-∂-Xns\ .......... F∂v \n¿h-Nn-°p-

∂p. (1)

9. a. AtUmƒ^v ln‰v -e¿ Ah-Im-i-s∏´

kmkw-kvIm-cnI Hu∂XyØn\v DZm-l-

c-W-am-Wv.......................................

b. CXv tImkvtam s]mfn-‰n-\n-k-Øn¬

\n∂pw Fßs\sb√mw hyXym-k-s∏-´n-

cn-°p-∂p. (1 + 3 = 4)

10. am[y-a-ßƒ Fß-s\-sb-√m-amWv kmaq-lo-

I-c-W-Øns‚ GP≥kn-I-fmbn {]h¿Øn-°p-

∂Xv? Hcp hnZym¿∞n-bpsS kmaq-loI-c-

WsØ klm-bn-°p∂ a‰p c≠v GP≥kn-

Iƒ Is≠-Øp-I. (4)

11. lb¿sk-°≥U-dn -X -e -Øn¬ kl-hn -

Zym`ymk(co-education)tØmSv hnZym¿∞n-

I-fpsS at\m-`mhw kw_-‘n®v ]T-\-Øn\v

th≠-hn-h-c-ßƒ tiJ-cn-°p-∂-Xn-\mbn Kth-

j-I≥ Bbncw hnZym¿∞n-Isf kao-]n--°p-

∂p. Cu hnZym¿∞n-Isf kqNn-∏n-°m≥ A\p-

tbm-Py-amb ]Zw sXc-s™-Sp-°p-I.

i) t]m∏p-te--j≥

ii) kmºnƒ

iii) bqWn-thgvkv

iv) \nb-{¥nX thcn-b-_nƒ (1)

12. kaq-limkv{X-Ønepw \c-hw-i-

imkv{XØnepw ^o¬Uv h¿°ns‚

kmwKXyw hni-I-e\w sNøpI (8)

           As√¶n¬
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Make a design for conducting a survey

on the study about 'the violation of child

rights in higher secondary schools of

Kerala'. (8)

Hints:

• Survey as a sociological method

• Tools of data collection

• Sampling techniques

• Advantages and disadvantages of

survey

13. Psychology studies the individual

behaviour while sociology studies the

behaviour as it is organised in the

society. Discuss (2)

14. i) The underlying regularities or

patterns by which people behave and

have relations with one another is

known as: (1)

a) Social stratification

b) Social structure

c) Social function

d) Social process

ii) Compare the views of Karl Marx and

Emile Durkheim about the constraints

exerted by social structure on an

individual. (1 + 2 = 3)

15. Express your views on the idea that

competition is necessary for the

development of a society. (5)

16. List out any two urban problems and

suggest remedies. (5)

17. Environmental problems can be

considered as social problems. Explain

(3)

18. a) Identify two risk societies associated

with Vizhinjam international sea port

project.

b) why do you consider these societies

as risk societies. (1 + 3 = 4)

tIc-f-Ønse lb¿sk-°≥Udn kvIqfp-I-

fn¬ \S-°p∂ "_mem-h-Imi [zwk\w' F∂

hnj-b-sØ-°p-dn®v Hcp k¿s∆ \S-Øp-hm≥

A\p-tbm-Py-amb Unssk≥ Xøm-dm-°p-I.(8)

kqN-\-Iƒ:

$ k¿s∆ Hcp kaq-l-im-kv{X-]-T-\-sa∂ \ne-

bn¬.

$ ZØ-ti-J-c-W-Øn-\p≈ Sqfp-Iƒ

$ kmºnƒ sSIv\n-°p-Iƒ

$ k¿s∆-bpsS KpW-tZm-j-ßƒ

13. a\-imkv{Xw hy‡n-I-fpsS {]h¿Ø-\sØ

]Tn-°p∂p F∂m¬ kaq-l-imkv{Xw kap-

l-Øn¬ {]h¿Ø-\-ßƒ F{]-Im-c-amWv cq]-

s∏-Sp∂Xv F∂-XmWv {]Xn-]m-Zn-°p-∂-Xv.

N¿®-sN-øp-I. (2)

14. i. hy‡n-I-fpsS ]c-kv]-c-_-‘-sØbpw

kz`m-h-sØbpw kzm[o-\n-°p∂ {Ia-ßƒ

AYhm amXr-I-Iƒ Fß-s\-bmWv Adn-b-

s∏-Sp-∂-Xv.

a. kmaq-lnI t{iWo-I-cWw

b. kmaq-ln-I-L-S\

c. kmaq-ln-I-[¿Ωw

d. kmaq-ln-I-{]-{In-b-Iƒ

ii. hy‡n-bn¬ kmaq-ln-I-L-S\ sNep-Øp∂

kΩ¿±-sØ-Ip-dn®v Imƒam¿Ivkns‚bpw

Fan-¬ U¿°o-an-s‚bpw A`n-{]m-b-ßƒ Xmc-

Xayw sNøp-I. (1 + 2 = 3)

15. kaq-l-Øns‚ hnI-k-\-Øn\v a’cw Hcp

Ahn-̀ m-Py-L-S-I-am-Wv. \nß-fpsS A`n-{]mbw

tcJ-s∏-Sp-Øp-I. (5)

16. GsX-¶nepw c≠v \mK-cnI-{]-iv\-ßƒ

Is≠Øn ]cn-lmcw \n¿t±-in-°p-I.

(5)

17. ]mcn-ÿn-XnI {]iv\-ßƒ kaq-lnI {]iv\-

ß-fmbn Icp-Xm-hp-∂-Xm-Wv. hni-Zo-I-cn-°p-

I. (3)

18. F. hngn™w A¥¿tZ-iob Xpd-ap-J-]-≤-Xn-

bp-ambn _‘-s∏´v c≠v dnkvIv kaq-lsØ

Xncn-®-dn-bp-I.

_n. Cu kaq-l-ßsf F¥vsIm≠mWv

\nßƒ dnkv°v kaq-l-ß-fmbn ]cn-K-Wn-°p-

∂Xv (1 + 3 = 4)



20

19. Match column  'B' and 'C 'with column

'A' (5)

20. Differentiate mechanical solidarity from

organic solidarity (2)

21. 'Sociology is a systematic form of

empathetic understanding' - Weber

Prove. (2)

22. Can we consider a democratic state like

India as a pure welfare state? Establish

your views with the support of the test

criteria introduced by A.R Desai. Your

answer should not exceed 200 words.

(7)

OR

D.P Mukharjee introduced 'tradition as

a living tradition'. Examine this in the

Indian context with examples. (7)

23. Sarat Chandra Roy was:

a) The leader of the ethnographic survey

conducted in the state of cochin

b) A lawyer changed sociologist

c) An authority on Chota Nagpur

d) Interpreter of tribal customs and laws

to the Ranchi court

19. tImfw 'A' bv°v ]qc-I-ambn 'B, C' tImf-ßƒ

{Iao-I-cn-°p-I. (5)

20. bm{¥nIsFIyhpw ssPhn-I-sF-Iyhpw

XΩn¬ th¿Xn-cn-°p-I. (2)

21. ""kaq-l-imkv{Xw A\p-Xm-]m-[n-jvTnX Xncn-

®-dn-hmWv'' sh_¿. km[q-I-cn-°p-I. (2)

22. Hcp P\m-[n-]Xy cmPy-amb C¥ysb Hcp

ip≤ t£a-cm-jv{S-ambn IW-°m°m≥ Ign-

bptam? F. B¿. tZimbn apt∂m-́ vsh® am\-

Z-fi-ßƒ°\p-krX-ambn \nß-fpsS \ne-

]mSv ka¿∞n-°p-I. \nß-fpsS DØcw 200

hm°n¬ Ihn-b-cp-Xv. (7)

As√-¶n¬

]mc-º-cysØ Poh-\-]m-c-º-cy-sa∂v Un. ]n.

apJ¿Pn hnti-jn-∏n-°p-∂p. C¥y≥ ]›m-

Ø-e-Øn¬ DZm-l-c-W-k-lnXw ]cn-tim[n-

°p-I. (7)

23. ic-XvN-{µ-tdmbv.........................

a. sIm®n-kw-ÿm-\Øv FXvt\m-{Km-^nIv

k¿s∆°v t\XrXzw \¬In.

b. Hcp \nb-a-⁄-\mb kaq-l-im-kv{X-⁄≥.

c. tNm´m-\m-Kv]q-cn-s\-Ip-dn®v B[n-Im-cn-I-]-T\w

\S-Øn-b-hy-‡n.

d. dm©n-tIm-S -Xn -bn¬ BZn-hm-kn -I-fpsS

hymJym-Xmhv Bbn-cp-∂p.

A B C

Max Webber Class struggle Emile Durkheim

amIvkv sh_¿ h¿§-kw-L-´\w Fan¬ Up¿°nw

Division of  labour Serfs Ideal type

sXmgn¬ hn`-P\w sk¿^vkv sFUn-b¬ ssS∏v

Karl Marx Spinning Jenny Equality

Imƒ am¿Ivkv kv]n∂nw-Kv sP∂n kaXzw

French Revolution Traditional authority Britain

{^©v hnπhw ]mc-ºcy A[n-Imcw {_n´≥

Industrial revolution Organic solidarity Mode of production

hyh-kmb hnπhw ssPhoI sFIyw D¬]m-Z\ coXn-Iƒ
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Choose the correct code:

i) A and B are correct

ii) B and C are correct

iii) Only C is correct

iv) B, C and D are correct (1)

24. Ascribed status has some value even in

the modern society.

a) Give some examples (2)

b) Differentiate between ascribed and

achieved statuses (2)

icn-bm-b- tImUv sXc-™-Sp-sØ-gp-XpI.

i) A bpw B icnbmWv

ii) B bpw C icnbmWv

iii) C am{X-amWv icn

iv) B bpw C bpw D bpw  icnbmWv (1)

23. B[p-\nI kaq-l-Ønepw Btcm-]nX ]Z-

hn°v {]m[m-\y-ap≠v

a. Nne DZm-l-c-W-ßƒ \¬IpI (2)

b. B¿÷n-Xhpw Btcm-]n-X-hp-amb ]Z-hn-Iƒ

XΩn-ep≈ hyXymkw tcJ-s∏-Sp-Øp-I.

(2)
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1 Recollects social anthropology 1 1

2 i) Compares the given alternatives and concludes option 'c'

as the answer 1

ii) Judges the given options and gives proper justifications:

Sociology is a pure science 1 4

Sociologist is not a social activist 1

Objective study of social phenomena 1

3 a)  Recalls Karl Marx as a conflict theorist 1

 b) Associates the stratification system as related to

social class 1 4

 Conflict view of social class 1

 Functionalist view of class 1

4 Selects option c as the answer 1

Differentiates two concepts from the list 2 3

5 Compares micro and macro institutions 1

Two examples for micro social institutions 1 3

Two examples for macro institutions 1

6 Evaluates the functional view

Maintenance of social order 1

Specialisation of roles 1

Takes a judicious stand 1 3

7 Differentiate the types of marriages and arrives at the

correct answer - d 1 1

8 Recalls nationalism 1 1

9 Identifies the given example as ethnocentrism 1

Differentiates ethnocentrism from cosmopolitanism 3 4

10 Identifies the role of mass media in socialisation 2

Retrieve the two agencies of socialisation of students 2 4

11 Identifies the given situation as sample 1 1

12 Identifies fieldwork as method of study 2

Lists the features of field work in anthropology 2 8

Examines field work in sociology 2

Differentiates sociological fieldwork from anthropological

field work 2

 Qn. Sub Value points/Scoring indicators Score Total

No. Qns

Answer Key
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 Qn. Sub Value points/Scoring indicators Score Total

No. Qns

fieldwork

OR

Survey as a sociological method 2

Tools of data collection 2 8

Sampling techniques 2

Advantages and disadvantages of survey over census 2

13 Recalls the features of psychology 1

Recalls the features of sociology 1 2

14 i)  Recollects social structure 1

ii) Compares and contrasts the views of Karl Marx and

Emile Durkheim 2 3

15 Recalls the importance of competition in social development 5 5

16 List any two urban problems 3

Outlines remedial measures 2 5

17 Define social problem 1

Define environmental problem 1

Correlate environmental problem as social problem 1 3

18 Identifies 2 risk societies 1

Evaluates the features of a risk community 3 4

20 Two differences between mechanical and organic

solidarities 2 2

21 Gives two arguments to prove the statement 2 2

22 Define welfare state 1

Features of a welfare state 2

Test criteria of welfare state introduced by A.R Desai 2 7

Examines the test criteria in the Indian context 2

A B C

Max Webber Traditional authority Ideal type

Division of  labour Organic solidarity Emile Durkheim

Karl Marx Class struggle Mode of production

French Revolution Serfs Equality

Industrial revolution Spinning Jenny Britain

19
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 Qn. Sub Value points/Scoring indicators Score Total

No. Qns

OR

Define tradition 1

Explain how does tradition survive 2

Linkage with the past and present 2

Principles of change in Indian tradition 2 7

23 Compare and arrive  at the conclusion that option 'iv'

is correct 1 1

24 a) Presence of caste system in the modern society 2

b) Two differences between ascribed and achieved statuses 2 4
















